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Lesson-15 : Temperature

===

Exercise-1
1. (a) (i) Normal human body temperature = 98.6°F = 37°C

9
(b) (iii) 40°C = (E X 40 + 32)01: = (3? + 32)°F = (72 + 32)°F = 104°F

2. (a) 99° (b) 38°

3. (a) 35.6°F=[(35.6 - 32) x g ]°C=(3.6 xg) °C=2°C

(b) 77°F = {(77 2 )EX gj|°C = (45 x §j°C = (%}C =25°C

(c) 2264°F = [(226.4—32) XS}OC = [194.4 x gil"C = (%)"C =108°C

11
(d) 131°F = [(131 = 32) x 2] °C = (99 §)°C = 55°C
9" 1

7
(e) 95°F=[(95-32)x 2]°C= (%ngc -35°C
9 1

(f) 185°F = [(185 = 32) X —S—i'oc = (153 X gjoc - (7;;5)0C = 85°C

9 2,
(g) 203.9°F= [(203.9 2) X%}C = [171.9 X §}°C = (%)°C =056"C

5 8 5 "
(h) 104°F =[(104-32) x £ ] °C=(72 ) °C=40°"C |
1 |

4. (a) 27°C= (—z— x 27 +32)°F = (48.6 + 32)°F = 80.6°F

9
(b) 45°C= (%/ x 45 + 32)°F = (81 + 32)°F = 113°F
1

{70 C— (% x 72+ 32)°F=(129.6 + 32)°F =161.6°F |

| 4
(d) 20°C= g x 28+ 32)°F = (36 + 32)°F = 68°F
1

(e) 37°C= (% x 37 +32)°F = (66.6 + 32)°F = 98.6°F |
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